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總體2003/上     期末考    班級：           學號：           姓名：

Williamson Ch 1-7part  (2004/1/8, 9:10-11:00 am)           

Total:110 points
I. 單選題Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

選擇題答案請寫在下面答案格上：

1) Changes in government spending are not likely causes of business cycles because government spending induced business cycles would, counterfactually predict

a) countercyclical consumption.

b) procyclical consumption.

c) countercyclical employment.

d) procyclical employment.

2) When consumption and leisure are both normal goods, an increase in real dividend income minus taxation, the rational consumer

a) increases consumption and increases labor supply.

b) increases consumption and reduces labor supply.

c) reduces consumption and increases labor supply.

d) reduces consumption and reduces labor supply.

3) The real wage denotes

a) the number of units of labor time that can be exchanged for one unit of leisure time.

b) the number of units of leisure time that can be exchanged for one unit of labor time.

c) the number of units of consumption goods that can be exchanged for one unit of labor time.

d) the number of units of labor time that can be exchanged for one unit of consumption goods.
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4) Intertemporal substitution of labor suggests that 

a) the substitution effect of a permanent increase in the real wage is larger than the substitution effect of a temporary change in the real wage.

b) the substitution effect of a permanent increase in the real wage is smaller than the substitution effect of a temporary change in the real wage.

c) the substitution effect of a permanent increase in the real wage is equal to the substitution effect of a temporary change in the real wage.

d) hours worked are not affected by changes in real wages.

For the following question, suppose that an economy produces only bread and computers.  Assume that all production is consumed in each year, and that price and quantity data are given in the table below.
 Year 1                                 Year 2
	Good
	Quantity
	Price
	
	Good
	Quantity
	Price

	Bread
	30
	$10
	
	Bread
	40
	$15

	Computers
	10
	$50
	
	Computers
	30
	$60


5) If Year 1 is the base year, the GDP price deflator for Year 2 is approximately 

a) 100.0.

b) 126.3.

c) 131.3.

d) 181.0.
6) Suppose that GDP is equal to 1000, national saving is equal to 200, the current account deficit is equal to 100, and the government budget deficit is equal to 50.  Private savings must equal

a) 150.

b) 200.

c) 250.

d) 300.

7) The Ricardian equivalence theorem implies that

a) government debt policy must be handled correctly for the economy to prosper.

b) the amounts of government spending are neutral.

c) an increase in government spending has no effect on the economy, as long as there is an equal change in taxes.

d) the timing of taxes collected by the government is neutral.

8) An example of a stock would be

a) real GDP.

b) savings.

c) investment.

d) the amount of money in circulation.

9) If deviations from trend in a macroeconomic variable are positively correlated with deviations from trend in real GDP, that variable is said to be

a) useful in predicting future movements in real GDP.

b) procyclical

c) countercyclical.

d) acyclical.
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10) When drawn against the real interest rate, the output supply curve is upward sloping because labor supply is

a) increasing in the real interest rate and labor demand is independent of the real interest rate.

b) decreasing in the real interest rate and labor demand is independent of the real interest rate.

c) independent of the real interest rate and labor demand is increasing in the real interest rate.

d) independent of the real interest rate and labor demand is decreasing in the real interest rate.

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. Numerical & analytical questions (Total: 70 points)

答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。

分析題請說明過程。)

1.
In a one-period model, please draw a graph and show the equilibrium effects on consumption, hours worked, and output of an increase in total factor productivity. (16%)

2.
Assume a two-period economy with 2 consumers, Mr. A and Miss B.  Mr. A is inherited an asset of $20 when birth.  Mr. A’s income in the current period is yA=$50, and income in the future period is yA’=$120.  Miss B has no initial wealth.  Miss B’s income in the current period is yB=$100, and income in the future period is yB’=$80.  Each consumer pays the lump-sum taxes of $10 in each period.  That is, tA=$10, tB=$10, tA’=$10, and tB’=10.  The nominal interest rate is 10% and inflation rate is 4% per period.  The Government spending is $20 in each period. (Total: 18%)

(1). Suppose that current and future consumption are perfect complements for Mr. A and that he always wants to have equal consumption in the current and future periods.  Determine what A’s optimal fist- and second-period consumption are, and what optimal saving is.  Is Mr. A a lender or a borrower? (12%)

(2).
Assume the government does not change its spending and taxation policy in both periods.  According to Walras’ law, what B’s consumption and saving in the current period. (6%)

3. In a two-period (dynamic) macroeconomic model, there are a representative household, a representative firm, and government. (Total: 16%)

(1) Please derive the corresponding Walras’ law. (10%)

(2) What are the equilibrium prices to be determined when general equilibrium is reached. (4%)

(3) Explain the relationship between Walras’ law and general equilibrium. (2%)
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4. Tom lives on an island and has 20 coconut trees in the current period, which currently produce 180 coconuts.  Tom detests coconuts, but he can trade them with people on other neighboring islands for things that he wants.  Further, Tom can borrow and lend coconuts with neighboring islands.  In the coconut credit market, a loan of 1 coconut in the current period is repaid with 3 coconuts in the future period.  Each period, Tom’s trees produce, and then 20% of them die.  If Tom plants a coconut in the ground in the current period, it will grow into a productive coconut tree in the future period.  At the end of the future period, Tom can sell any remaining coconut trees for 1 coconut each. When Tom plants coconuts in the current period, he plants them in successively less fertile ground, and the less fertile the ground, the less productive is the coconut tree.  For convenience, we will assume here that fractions of coconuts can be produced by trees.  Output in the future period, for given numbers of trees in production in the future period, is given in the following table: (Total: 20%)

	Trees in production in the future,

K’
	Future output of coconuts,

Y’
	Required

Investment, 

I
	Present value of profits,

V
	Net marginal of capital,

MPk’-d

	14
	150
	
	
	

	15
	153
	
	
	

	16
	155
	
	
	

	17
	156
	
	
	

	18
	156.5
	
	
	


Please fill in all the blanks in the table. (10%)

(a) Show the formula to calculate Tom’s present value of profits. (3%)

(b) Show the formula to calculate the marginal benefit from investment, MB(I).  Please calculate MB(I) when I =1. (4%)

(c) Determine Tom’s optimal quantity of investment, and explain your results. (3%)

